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BEANRE £ F054F B8 P BR (R B /K S B BR (— 1 4m) R SUE B (S 3R)
2 o] 1| - R Bif i ¢ = ¥
EEREE 21,163, 330
WMEIEEER 21,163, 330
WMERIEEER 21,163, 330
WMKIEE 20, 921, 330
BEE 559, 584
1 1EE#ME 1.00 559, 584 559, 584
%
MKIEE 14,926, 374
2 #iF - B 1.00 1,208,514 1,208,514
#
3 HWERE (1) —RBE. MAHRA 87.00 47, 853 4,163, 211
km
4 WERE (2) —RBEE. AHA 141.90 53,170 7,544, 823
km
5 WSRE (3) HEEE. BAR 37.80 53,170 2,009, 826
km
RHT 5,259, 272
6 EHERN 161. 60 32, 545 5,259, 272
km
W& - |E 176, 100
1 EHithE 1.00 58, 700 58, 700
=
8 thRfisRE 1.00 58, 700 58, 700
=
9 miRIRe 1.00 58, 700 58, 700




BEANRE £ F054F B8 P BR (R B /K S B BR (— 1 4m) R SUE B (S 3R)

E#EEE 242,000
S 200, 000
10 #HHRA 1.00 200, 000 200, 000

=
Z 0t 42,000
1 EIEERE E-AYUIHRE 1.00 42,000 42,000

=




A 54 B B P BR (R BRUK B BOMBR (-1 4m) BE SR E (3 R)

% g R - KSR Bifr 2 B i & B W =
ERAEE 12,778,043
ERE 12,778,043 x 64.5% — 9,880 8,231,957
REEHE 12,778,043 + 8,231,957 21,010, 000
B R 8,185,287 + 200, 000 8,385, 287
EEAGE 8,185, 287
EERE 200, 000
T DR 8,185,287 x 53.85% ( 35% + (1 — 35%) ) 4,407,117
RHRIE 8,385,287 + 4,407,777 12,793, 064
—REEES 12,793,064 x 53.85% (35% + (1 — 35%) ) — 2,128 6, 886, 936
BEHES T 12,793,064 + 6,886,936 19, 680, 000
KBS 21,010,000 + 19, 680, 000 40, 690, 000
HEREELE 40,690,000 x 10.00% 4,069, 000
HRREXB(IEE 40,690,000 + 4,069, 000 44,759, 000
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H#5 1
275 REER 1XEY
2 b g - BIRTE By = B 4 ) # i

HEnE

A 1.00 70, 900. 00 70, 900
FEHRAR (F%ET)

A 2.50 62, 200. 00 155, 500
AR (A)

A 2.50 55, 200. 00 138, 000
HEm (B)

A 1.00 45, 300. 00 45, 300
AR (C)

A 0.50 35, 600. 00 17, 800
BIEFEHEM

A 1.00 51, 000. 00 51,000
RIS HRER

A 1.00 44,000. 00 44,000
Bl S H A

A 1.00 34, 300. 00 34, 300
MR 2E0%

% 0.50 556, 800. 00 2,784
& B 1E%HeH - 1.00K 559, 584. 00 559, 584
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o F154F 2 B8 PIAR BE (R BRKE H RO BB (- 14m) B SR E(FE3R)

&5 :2
25 EilE - BE IED)
2 b g - BIRTE By = B ® W = " =
REE S4 kY 2L
B 3.00 3, 360. 00 10,080 2. 00H / 8H
WSIEERER HMERMEETRIEEa L, HIE28. RS
B 1.50 23,925. 00 35, 887
5fin D 200PSEY
B 0.75 192, 083. 00 144,062 6. 00H / 8H
HAEER FRP
B 2.25 58, 410. 00 131, 422 8H
FEHRAR (F%ET)
A 2.25 62, 200. 00 139, 950
AR (A)
A 3.38 55, 200. 00 186, 576
HEm (B)
A 2.63 45, 300. 00 119, 139
RIS HRER
A 1.50 44,000. 00 66, 000
Bl S H A
A 1.50 34, 300. 00 51,450
BEBF
A 4.50 32, 200. 00 144, 900
BIEHEE
A 4.50 217,000. 00 121, 500
MM 2E0%
% 5.00 1, 150, 966. 00 57, 548
& B 1YE%HEH - 1.0048 1,208, 514. 00 1,208, 514
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o F154F 2 B8 PIAR BE (R BRKE H RO BB (- 14m) B SR E(FE3R)

&5 :3
& BREE (1) —XEE. mARA 1B&HY (14km)
2 b g - BIRTE By = il ® W = " =
REE S4 kY 2L
B 1.00 3, 360. 00 3,360/2.00H / 8H
5fin D 200PSEY
B 1.00 192, 083. 00 192,083 6.00H / 8H
HAEEM FRP
B 1.00 58, 410. 00 58, 410 8H
WSIEERER HMERMEETRIEEa L, HIE28. RS
B 1.00 23,925. 00 23,925
GNSS;BIfI & DGNSS
B 1.00 25,575.00 25,575
BERIREE 15m  100kHz
B 1.00 9, 256. 00 9, 256
FEHRAR (F%ET)
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.00 55, 200. 00 55,200
HEm (B)
A 1.00 45, 300. 00 45, 300
RIS HRER
A 2.00 44,000. 00 88, 000
Bl S H A
A 1.00 34, 300. 00 34, 300
BEBF
A 1.00 32, 200. 00 32,200
BIEHEE
A 1.00 217,000. 00 217,000
M 2E0%
% 2.00 656, 809. 00 13,136
& B YEZRESN - 14.00km 47, 853. 00 669, 945
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o F154F 2 B8 PIAR BE (R BRKE H RO BB (- 14m) B SR E(FE3R)

Hz5 .4
& BREE (2) —RXEE. AR 1B&Y (12.6km)
2 b g - BIRTE By = il 4 ) W = " =
REE S4 kY 2L
B 1.00 3, 360. 00 3,360/2.00H / 8H
5fin D 200PSEY
B 1.00 192, 083. 00 192,083 6.00H / 8H
HEAH FRP
B 1.00 58, 410. 00 58, 410 8H
WSIEERER WMSIEEETRIEE O /L, HEIEes. EkER
B 1.00 23,925. 00 23,925
GNSS:AIfI £ & DGNSS
B 1.00 25,575.00 25,575
BERIREE 1AM 100kHz
B 1.00 9, 256. 00 9, 256
FEHRAR (F%ET)
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.00 55, 200. 00 55,200
HEm (B)
A 1.00 45, 300. 00 45, 300
RIS HRER
A 2.00 44,000. 00 88, 000
Bl S H A
A 1.00 34, 300. 00 34, 300
BEENF
A 1.00 32, 200. 00 32,200
BIEHEE
A 1.00 217,000. 00 217,000
M 2E0%
% 2.00 656, 809. 00 13,136
& B YEZRESN 1 12.60km 53, 170. 00 669, 945
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F5 .5

&% BXEE (3) HREE. AAA

o F154F 2 B8 PIAR BE (R BRKE H RO BB (- 14m) B SR E(FE3R)

1HHY (12.6km)

£ b 3R - ks B £ B £ & = 5 =
RBE SA4 kR 2L
=] 1.00 3,360. 00 3,360/2. 00H / 8H
31t D 200PSE!
=] 1.00 192, 083. 00 192,083 6. 00H / 8H
EESMH FRP
=] 1.00 58, 410. 00 58,410 8H
MSIFEE RS MSIEEREED L. BIES. 2ES
=] 1.00 23, 925. 00 23,925
GNSSAI I E DGNSS
=] 1.00 25,575.00 25,575
BERIREE 1AM 100kHz
=] 1.00 9, 256. 00 9, 256
FIEHEEM (575
A 1.00 62, 200. 00 62, 200
BEm (A)
A 1.00 55, 200. 00 55, 200
HER (B)
A 1.00 45,300. 00 45, 300
RIS HRER
A 2.00 44,000. 00 88, 000
BIEHEE
A 1.00 34,300. 00 34, 300
BEENF
A 1.00 32, 200. 00 32,200
BIEWENE
A 1.00 27,000. 00 27,000
MR =730
% 2.00 656, 809. 00 13, 136
A& § EEREN : 12.60k m 53, 170. 00 669, 945
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&S .6
B . BREN 100km= Y
2 b g - BIRTE By = BHO(f %8 # " =
FEHRAR (F%ET)
A 12.00 62, 200. 00 746, 400
AR (A)
A 16. 00 55, 200. 00 883, 200
HEm (B)
A 16. 00 45, 300. 00 724, 800
RIS HRER
A 8.00 44,000. 00 352, 000
Bl S H A
A 8.00 34, 300. 00 274, 400
BEBF
A 8.00 32, 200. 00 257, 600
MR 2E0%
% 0.50 3, 238, 400. 00 16, 192
& B YEZERES : 100.00k m 32, 545. 00 3, 254, 592
&5 .1
¥ BATHE HEED)
2 b g - BIRTE By = BHO(f %8 # " =
F{EHRAR (F%ET)
A 0.50 62, 200. 00 31,100
AR (A)
A 0.50 55, 200. 00 217,600
& Hi 1YEZHER - 1.00[E 58, 700. 00 58, 700
5.8
& PRERE HEED)
2 b g - BIRTE By = BHoO(f %8 # " =
FEHRAR (F%ET)
A 0.50 62, 200. 00 31,100
AR (A)
A 0.50 55, 200. 00 217,600
& Hi 1YEZHEH - 1.00[E 58, 700. 00 58, 700
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o F154F 2 B8 PIAR BE (R BRKE H RO BB (- 14m) B SR E(FE3R)

59
£ EW|E HEED)
2 b g - BIRTE By = BHO(f %8 # " =
FEHRAR (F%ET)
A 0.50 62, 200. 00 31,100
AR (A)
A 0.50 55, 200. 00 217,600
& Hi 1YEZHEH - 1.00[E 58, 700. 00 58, 700
&5 :10
2% EBHRRA 1LY
2 b g - BIRTE By = BHO(f %8 # " =
EBHRERERE
= 1.00 200, 000. 00 200, 000
& Hi 1E%HeH - 1.00K 200, 000. 00 200, 000
&5 11
&% EIKREHRE E-4YVIJHRE 1LY
2 b g - BIRTE By = BHO(f %8 # " =
MEIERERAE
= 1.00 42,000. 00 42,000
& B 1E%HeH - 1.00K 42,000. 00 42,000




